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IInd Year Commerce Examination, 2017
ACCOUNTANCY AND STATISTICS
Paper - IIT
(Cost Accounting)

Time : Three Hours
Maximum Marks : 100

PART-A [Marks : 20]
(gve-31)
Answer all questions (50 words each).
All questions carry equal marks.

Tft w7 ofrerd ¥ Tow T F ITW 50 I 9
e 7 2N wvt v @ ofF wEm B

PART-B [Marks : 50]
(@Ue-9)
Answer five questions (250 words each). Select one question
from each unit. All questions carry equal marks.

TAF THE W TH-USH T T gU, FA UrEl FIT HIAT
TEF T HOIW 250 TR W AfrF T
Tl g B o TR F
PART-C , [Marks : 30]
(@vg-4)
Answer any two questions (300 words each).
All questions carry equal marks.

FE S Ye HIC TAF U9 FT SW 300 V= B
afe 7 8 gl w B ofw Tum
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PART-A
(TUs-3T)

UNIT-I
(FFRE-D)
1. (@  Distinguish between Direct and Indirect Cost.
T TS SIS N W SRR waisdl
(i)  What is Bin-card ?
fm = fFg ws0 € 2
UNIT-II
(FFE-11)
(iii)) Distinguish between the Normal and Abnormal
Idle Time. )
ER T ST HRER T H R Sared|
(iv) What are the different methods of absorption of
factory overheads ?

FREA IR & e & fafee ﬁfw
HA-HE-F ¥ ?
UNIT-I1I
(11D |
(v)  What is the formula for calculating "Utilisation Ratio"
for transport vehicles ?

A 2R ot mieal % faw Csyefi e’
A HE R OGA L2
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(vi) Distinguish between By-product and Joint-product.

SR T TE-SAR ¥ R saEdl

UNIT-IV

(FFTE-IV)
(vii) Give Journal entry for purchase of raw material for
special jobs under integrated system.

Ww@%mﬁﬁﬁr@mﬁ%ﬁq
F WA HA w SHe wfafe

(viii) What do you mean by reconciliation of cost and
financial accounts ? -

W Td fadie ol ® fgem ® e wm
At ® 2 '

UNIT-V

FFE-V)

(ix) Find out margin of safety if profit is ¥ 20,000
and P/V ratio is 40%.

e H 9 i 3k @ T 20,000 @m0
U SEUE 40% R
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() Calculate Ac;ual\ Labour Hours if Standard Hours
60, Standard Wages Rate T 20 per hour, Labour
Efficiency variance ¥ 320 favourable.

TG WU 60, WY Wy T T20 WA mver @em
sm FHrEigTer R T 320 ogww, @ ARt
sl L

PART-B
(@uz-¥)
UNIT-I

(-1

2. "Cost Accounting System is neither unnecessary nor

expensive, rather it is profitable investment.” Comment.

YT e TSR T @ eI € 3R 7 € e,
g T e fafrE 3 e S
' OR (37er)
3. A company is considering a selective control for its
inventories. Using the following data, 'prepare "ABC" Plan

and also show it by graph : (5+5)
uF FEA wEtE FEem yorelt e @ fow ST

2 e ouel # WeRa € e 9 | Oie W9 Rd
W@WW‘T{W:
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Items Units Per Unit Cost
(72) (s | (vf1 TR @)
I 700 5.00
i 1100 5.00
I 400 12.50
IV 1000 0.30
\ 500 6.00
VI 800 300
VI 1000 3.10
VIII 500 2.60
IX 500 £ 9.00
X 3500 0.40
UNIT-II
(FTE-1)

4. Two workers Vinod and Shankar produce the same
product, using the same material. Their normal Wage Rate
is also the same. Vinod is paid bonus according to Rowan
system while Shankar is paid bonus according to Halsey
system. Time allowed‘to make the product is 100 hours.
Vinod take 60 hours while Shankar takes 80 hours to

| complete the product. The Factory overhead rate is
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< 10.00 per man hour actually worked. The Factory Cost
for the product for Vinod is ¥ 7,280 and for Shankar-it is
< 7,600.

You are required to ascertain :
(@ Normal Wage Rate.
(b) Cost of Material.

(c)  Statement of cost of the products made by two
workers. (3+3+4)

T FHAN foAR T ViER TH EE 9l R W
T T SR T w E A W e A
R/ H TR R AR w A w ym Je T
# IER fF S ¥ SWF v A §FE W g
U TS A fR W #1 SoR @ R e @
100 W92 ¥ IE W TR F BAR 60 WU ohTEr ®
SEfE YE 80 WU WMl ¥ wRE@M SURSE W
| A AR TR T 10 1 wRE o e @ R
T 7280 T ViER F O T 7,600 Rl MW W H :
(37) W WERE R
(3) @il @rmEl
(@) W wHERE g7 R R R SaR w arm
w1 faEor = |
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OR (37er)
5.  Differentiate between allocation, apportionment and
absorption of overheads. Also explain in brief the various
methods of absorption of Factory overheads. (5+5)

SIS % Fed, SYRH U§ S@Ewive § =R gaRd|
FREA SR & sTEvimw wi fafy= fafEl @ o
T8y § e

UNIT-III

(SE-I1D)

6. A truck starts with a load of 10 tonnes of goods from
Station P, it unload 4 tonnes at station Q and rest of the
goods. at station R. It reaches back directly to Station P
after getting reloaded with 8 tonnes of goods at Station R.
The distances between P to Q, Q to R and then from
R to P are 40 kms, 60 kms; and 80 kms. respectively.
Compute ‘Absolute’ tonne-kms. and ‘Commercial’
tonnes-kms.

Also explain basic difference between Absolute tonne-kms.
and Commercial tonne-kms. (4+4+2)

TF T 10 T U W R RIE ¥ @ o,
4 H A F WIA W A I HA AR ©IA | @l
fFan o% o VY9 ¥ 8§ H AW 9O [ : AR ¥
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% By B fom wELgen ¥ w7, ¥ IR [N
IR ¥ W LA B WA 0 owA: 40 FEE, 60 fRH
e 80 feet #1 ‘FrRYe’ = feeiR wan Cenforae’
=7 feamier w1 O FfE
Y o frade 3 afnfes = feads § v
IR Wt SR
OR (37ga)
7. Explain clearly the difference between by-product and

joint-product. How are they treated in cost-accounts ?
' (5+5)

mam—mﬁwml'mmﬁ
T o@ fFg YER fRA@ W ¥ 2

UNIT-IV

(SFTE-IV)

8.  From the following information drawn from costing records
and financial books of a factory, you are required to pass
necessary entries in the cost journal, assuming that a
system of maintaining control accounts prevails in the
organisation. 10
TF FREW & oFE U@ i g @ o T e
oAt § 9% A gu R wed ¥ freem wm @
W €, oovs wHa ufafed #iE

2803/10,080/565/25 8



Items - A ~Items - X
Purchases 3,90,000 | Works on Cost 3,48,400
Carriage Inward ~ 5,850 | Materials used
Stores Issued 3,58,800 in Repairs 3,120
Productive Cost of Completed

Labour’ 3,46,320 Jobs 12,80,630
Unproductive '

Labour 1,21,680

OR (37eE)

9. What do you mean by Activity Based Costing ? How does

it differ from Traditional Absorption Costing ?

(5+5)

fFq oTufRE o oEiET ¥ oue F A € ? TR
IRERE ST AN erEEd @ fRe weR B R 2

UNIT-V

FFE-V)

10. The following information is provided :

Ratio of variable cost to sales 60%.

BEP occurs at 80% of sales.

"Fixed cost T 2,00,000/-

Ascertain : ‘

(@  Sales capacity and Sales at BEP.
(b)  Profit at 90% Sales capacity.

2803/10,080/555/25 9
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11.

e g & o §
TRadTefie @ fawa =1 60%
Tafoes? o fawa & 80% ™
Tt @ T 2,00,000

I wE

@ WWW‘WWWWI
(b) T F 90% "R R @9 w5 i

OR (3794)

A manufaéturing concern which has adopted Standard
Costing furnishes the following informatidn :
Standard :

Materials for 70 kg. Finished products 100 kg.

Price of Materials % 1/- per kg.
Actual : | | ‘

Output 2,10,000 kg

Material used . ' 2,80,000 kg

Cost of material _ T 2,52,000
Calculate :
Material Cost Variance; Material Price Variance and
Material Usage Variance. (3+3+4)
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12.

13.

T ffeit gen 3, ﬁaﬁmmmmﬂm%,

- Frefafen e & 2
CHES

it 70 kg, AR SR 100 kg..

et = wEa T 1 perkg.
qrAfeF

ERICE 2,10,000 kg

R SEm W w 2,80,000 kg

I @ % 2,52,000
T HI
gt @ fa=wor, sl gew faeror w@ wenlt 9
Ta=ron|

PART-C
(@us-7)
UNIT-1

GFR-D
What do you mean by Cost ? Explain clearly different
elements of Cost ?
‘o’ ¥ F oo 22 orm @ fafee de W
;. HHART

UNIT-1I

(FFTE-1D
In a Factory the factory overheads are charged on a fixed
percentage of wages and office overheads are calculated
on the basis of percentage of works cost.
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Following information are available :

- Items Product 'A"  Product 'B'
4 4
Materials 25,000 36,000
Wages 20,000 28,000
Sales Value 85,800 1,23,760
Percentage of profit on cost 10% 12%

Find out the percentage of factory overhead to wages and
percentage of office overhead to works cost.

TF FRE@M § FREH 9T weglt & & fake=m
FRE ® MR W WS R W ek weem
IURETT FREAT @G B IR, YR T 91 e 2

frer gl Swe ¥

7 3EE A’ 3AR B
T 4
iy 25,000 36,000
o9 20,000 28,000
fara g 85,800 - 1,23,760
WA | o9 HB K 10% 12%

FREA SRS F AR ¥ a0 FEE SUREE w1
FREM Ar'G 9 yfave @ sifSml

UNIT-1II

(ST-110)

14. A company produces a machine and sells it for
T 300. An increase of 20% in the cost of material; 10% in

'2803/10,080/555/25 12



15.

labour and 10% in overhead cost is anticipated. The only

figures available are material cost 50% of cost of sales;

labour cost 30% of cost of sales and overhead cost 20% of
cost of sales. :

The anticipated increased cost in relation to the present sale
price would cause-a 30% decrease in the amount of the
present gross profit. What should be the selling price of the
machine to give the same percentage of gross profit as
before ? :

T FU TH A ST T 300 ¥ SRt @1 @i @t
AR H 20%; 99 I AR W 10% q YRS w AN
¥ 10% # 3y Toim 1 frefafes T STae ¥
gl A T AT A 50%; 99 AR fasRd a6
30% T SUREE T @ # 20% R

TR @ g ¥ T AR ed % SR W A
THa o9 H 30% 1 FH T WM TW A H R
e T IR, AR THe 9w aaAm wiava € st
I B

UNIT-IV

(FFTE-1IV)
Prepare Memorandum of Reconciliation Accounts on the
basis of the following information obtained from the books
of a manufacturing unit for the year 2015-16 :

@mﬁﬂmaﬁaﬁzolsﬂsﬁgmﬁ'@mﬁm
e @ R W TR e @ s
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4

(i)  Profit as per cost-records estimated 3,44,800
()  Profit as per financial books actual  2,57,510
(iii) Works overhead under absorbed

in cost accounts | 6,240
(iv)  Administrative overhead are over ,

absorbed in cost accounts 5,000
(v)  Selling overhead recovered less in
' cost accounts . 1,600
(vi) Depreciation absorbed in cost

accounts 25,000
(vii) Depreciation charged in financial

books _ 22,400
(viii) Loss due to obsolescence charged

in financial books 11,400

(ix) Interest on Investments not included

in cost accounts 116,000

- ()  Income tax provided in financial

books ‘ - 80,000
(xi) Bank interest and transfer fees

accounted in financial books only 1,500
(xii) Stores adjustment credited in

financial books only 950
(xiii) Loss due to depreciation in stock

values—accounted for in financial

books only 13,500
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UNIT-V

(3FTE-V)

16. Write short notes on the following :
Frefafes w dfyw fewfral fafew
(a) Break-even Point.
w-foese fag)

(b)  Profit-volume Ratio.
-9 ST

(¢) Classification of Variances.
faewon =1 i

(d)  Current Standards.
e T
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